Physics Challenge Question 16:  Solutions

Part 1

An object on Earth feels a gravitational force
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Since the mass of the Earth, the Earth’s radius, and G are all constants, we can abbreviate them and rewrite the equation as
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where
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m.g is just our good old equation for the force of gravity on Earth.

Part 2
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Part 3

When you are on top of Mt. Everest, you are a little further away from the center of the Earth:
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We can now use that new height to determine g:
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So you feel a little lighter, although not by much!

Part 4
Writing gMoon in terms of gEarth:
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So you feel about 6 times lighter on the Moon, compared to on Earth.
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